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[SED421] which of these represents the progression of animals in a food chain
plants- herbivores- carnivores

[SED421] the process of nitogen fixation requires?
eight electrons and at least sixteen ATP molecules

[SED421] A food web is also known as
food cycle

[SED421] carbondioxide are gotten from the following sources except
photosynthesis

[SED421] Autotrophs is different from heterotrophs in such a way that
Autotrophs produce more biomass energy

[SED421] The oxygen in the atmosphere is freed by the process of?
photolysis

[SED421] A food chain is a _____ sequence of links in a food web
Linear

[SED421] All food chains must start with a?
producer

[SED421] A food chain is different from a food web because a food web is _____?
more complex

[SED421] All organisms in a food chain, except the first organism, are?
cosumers
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